
 

Copyright © 2004 AQA and its licensors 
 

abc
GCSE 2004 
June Series 

Mark Scheme 

Spanish A (Full Course) 
(Reading) 

Mark schemes are prepared by the Principal Examiner and considered, together 
with the relevant questions, by a panel of subject teachers.  This mark scheme 
includes any amendments made at the standardisation meeting attended by all 
examiners and is the scheme which was used by them in this examination.  The 
standardisation meeting ensures that the mark scheme covers the candidates� 
responses to questions and that every examiner understands and applies it in the 
same correct way.  As preparation for the standardisation meeting each examiner 
analyses a number of candidates� scripts: alternative answers not already covered 
by the mark scheme are discussed at the meeting and legislated for.  If, after this 
meeting, examiners encounter unusual answers which have not been discussed at 
the meeting they are required to refer these to the Principal Examiner.   
 
It must be stressed that a mark scheme is a working document, in many cases 
further developed and expanded on the basis of candidates� reactions to a 
particular paper.  Assumptions about future mark schemes on the basis of one 
year�s document should be avoided; whilst the guiding principles of assessment 
remain constant, details will change, depending on the content of a particular 
examination paper. 
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READING TESTS 
Notes on the Marking Scheme 

Non-verbal Answers 
Follow the mark scheme as set out. 
Verbal Answers (English or Target Language) 
1. The basic principle of assessment is that candidates should gain credit for what they know, 

understand and can do.  The following guidance should be borne in mind when marking. 
 (a) Credit should be given for all answers which convey the key idea required intelligibly 

and without ambiguity.  This applies whether the answer is in English or in the target 
language.  A separate assessment of spelling, punctuation and grammar is not required 
on these papers because of the nature of the answers.  However, these aspects are an 
integral part of assessing communication and marks cannot be awarded where errors 
in spelling, punctuation or grammar lead to a failure to communicate the required 
information without ambiguity. 

 (b) Where a candidate has given alternatives or additional information in answer, the 
following criteria should be applied: 

  - if the alternative/addition does not contradict the key idea or make it 
ambiguous, accept; 

  - if the alternative/addition contradicts the key idea or makes it ambiguous, 
reject. 

 (c) Where numbered lines are given within a question/section of a question, credit should 
be given for correct answers, no matter which line they appear on. 

 (d) Where a question has more than one section, a candidate may include as part of the 
answer to one section the information required to answer another section.  For 
instance, the information required to answer section (b) might be given as part of the 
answer to section (a).  In such cases, credit should be given for having answered 
section (b), provided that no incorrect answer has been given for that section in the 
correct place. 

 (e) Where a question or part of a question carries more than one mark, candidates are 
given credit for all the correct answers they give, even if they have given incorrect 
answers as well, except where any of the latter contradicts a correct answer that they 
have given. 

2. ...../..... means that these are acceptable alternative answers.  (.....) means that this 
information is not needed for full marks. 
 

3. In questions where candidates are asked to name, for example, three types of vegetable sold 
in the market, only the first three items they write down should be considered. 

4. Accept 
- T/F/? 
- Target language equivalent as instructed in rubric (eg. V/F/PM or R/F/NT) 
- ✔ /X/? 
- a mix and match approach using the above, where the response is clear and  
 unambiguous (eg. T and ✔  are both used by the candidate). 

5. In multiple choice questions where candidates must choose one letter or number, they should 
automatically get no mark awarded if they give more than one.  If the rubric instructs them to 
write one letter or number in the box and they do so, but write a second letter or number 
outside the box too, then the answer in the box should be considered. 

2. No mark scheme can cover all possible answers.  When in doubt: 
- look for the key idea, where this is appropriate. 
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Foundation Tier 
 
Question Key Word/Concept Accept Reject Marks 

1 Teacher Professor Mother 1 

2 School 

 

 

Work 

Inst. 

Institute  

Institution 

College  

Job(s) 

 1 

 

 

 

1 = 2 

3a) Good at it Does well at it 

I�m good at it 

She likes it 

It�s good 

She�s good in it 

1 

b) Homework  art homework 1 = 2 

4 Today now  
May 27th  

 1 

5 Brown   1 

6a) 

b) 

B 

B 

  1 

1 = 2 

7 
 
 
 
 
 
 
 
 
 

In any order    
 
 
1 
 
1 
 
 

1 = 3 
 

8a) 

b) 

c) 

d) 

Bicicleta 

Balcón 

Lee 

Once 

  

 

 

11 p.m. 

1 

1 

1 

1 = 4 

A 

E 

F 
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Question Key Word/Concept Accept Reject Marks 

9 Julia 
- Presente � 
 Recepcionista 
- Futuro � Cocinera 
Nina 
- Pasado � Canguro 
- Futuro � Guía 

 
 
 
 
 
cuidar niños 

 
 
 
 
 
trabajar con 
niños 

 
1 
 
1 
 
1 

1 = 4 
10 
 
 
 
 
 
 
 
 
 
 
 
 

In any order    
 
1 
 
 
1 
 
 
1 
 
 

1 = 4 

11 In any order 
Diego 
Eugenia 

   
1 

1 = 2 
12 
 

Comprar un traje 
tradicional 
 
Ganar la copa regional 
 
 
Tocar la guitarra clásica 

 Any of the 3 
answers without 
all 3 elements, 
i.e. verb + noun 
+ adjective 

1 
 
 
1 
 
 

1 = 3 
13 In this order 

D 
 
A 
 
C 

  1 
 
1 
 
 

1 = 3 
14  

Papá 
 
 
 
Nina 
 
 
 
Laura 
 
 

   
 
1 
 
 
 
1 
 
 
 

1 = 3 

   Total Marks: 35 
 

C 

A 

F 

E 

P 

P 

P + N 
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Higher Tier 
 
Question Key Word/Concept Accept Reject Marks 

1a) 
 

b) 
 

c) 
 

d) 

Susi 
 
Castellano  
 
Leer 
 
Harry Potter 

 
 
español 

conejo 
 
 
 
 
artículos      de 
libros         H.P. 

1 
 
1 
 
1 
 

1 = 4 
2a) 

 
 
 
 
 
 
 
 
 

In any order    
 
1 
 
 
1 
 
 
1 

2b) 
 
 
 
 
 
 
 
 
 

In any order    
 
 
1 
 
 
1 
 

1 = 6 

3a) 
 

b) 
 

c) 
 

d) 

Bicicleta 
 
Balcón 
 
Lee 
 
Once 
 

  
 
 
 
 
 
11 p.m. 

1 
 
1 
 
1 
 

1 = 4 

D 

E 

F 

A 

E 

D 
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Question Key Word/Concept Accept Reject Marks 

4 
 
 

Julia 
- Presente � 
 Recepcionista 
- Futuro � Cocinera 
Nina 
- Pasado � Canguro 
- Futuro � Guía 
 

   
 
1 
1 
 
1 

1 = 4 

5 Comprar un traje 
tradicional 
 
Ganar la copa regional 
 
 
Tocar la guitarra clásica 

 Any of the 3 
answers without 
all 3 elements, i.e. 
verb + noun + 
adjective 

1 
 
 
1 
 
 

1 = 3 
 

6 
 
 
 
 

 
Papá 
 
 
 
Nina 
 
 
 
Laura 
 
 

   
 
1 
 
 
 
1 
 
 
 

1 = 3 

7a) 
 
 
 

b) 
 
 
 
 
 
 

c) 

Engordaban 
 
 
 
(Los niños       ) 
(Los jóvenes   ) 
(Los pacientes ) se mejoran 
más rápidamente 
 
 
 
Estos   jovenes     
 pacientes  
 niños         
pueden seguir estudiando 
(desde su cama) 
 

se aburrían y 
engordaban 
 

 
 
 
 
Se aburrían/veían 
demasiados 
programas de 
tele/engordaban 
 
 
 
Pueden tener 
contacto con sus 
amigos por 
Internet 

1 
 
 
 
1 
 
 
 
 
 
 
 
 
 

1 = 3 

P 

P 

P + N 
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Question Key Word/Concept Accept Reject Marks 

8  
Teresa 
 
 
 
Rafael 
 
 
 
Olga 
 
 

   
 
1 
 
 
1 
 
 
 

1 = 3 

 
9 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
T ! 
 
 
N 
 
 
T ! 
 
 
T ! 
 
 
N 
 
 
F X 

  
1 
 
 
1 
 
 
1 
 
 
1 
 
 
1 
 
 

1 = 6 

10 Sensi C 
 
Vicky B 
 
Eva F 

  1 
 
1 
 

1 = 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

J 

J 

E + J 

V 

? 

V 

V 

? 

M 
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Question Key Word/Concept Accept Reject Marks 

11 a) Everything is going great 
BUT she�s still unhappy 
(Both elements required) 

 Any single 
reason eg � I�ve 
got lots of 
friends 
 
�everything is 
ok� 
 

1 

b) Something important is 
missing  

Something is 
missing in her 
life 
 

Something is 
wrong with her 
life 

1 

   She needs 
something 
important in her 
life 

 

c) Any one of -    
 Make others happy 

 
 Help others  

 Look after less fortunate 
people 
 

 Take care of 
others 

 

 Visit 
Help    an   ill    
person 
Befriend         old     
Accompany  

   
 
 

1 = 3 

12 
 
 
 
 
 
 
 
 
 
 

In any order 
 
 
 

   
 
1 
 
 
 
1 
 
 

1 = 3 

   Total Marks 45 
 
 
 
 
 
 
 
 
 
 

D 

E 

G 


